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QUESTION 1

Which option represents a function of Global Data Services (GDS)?
A. performs data replication

B. performs database failovers

C. replaces the functionality of Oracle Clusterware and Oracle RAC
D. coordinates site failovers

E. works seamlessly with Oracle Site Guard

Correct Answer: AB

QUESTION 2

Which two statements about Database Express are true?

A. It uses internal infrastructure components, such as XDB and SQL*Net.

B. It can perform actions outside the database.

C. It has background tasks and processes that periodically collect information via FTP.
D. It has two new features: Performance Hub and Composite Active Reports.

E. It is not supported on Standard Edition (SE) and Express Edition (XE).

Correct Answer: AD

Reference: http://www.oracle.com/technetwork/database/manageability/emx-intro-1970113.html

QUESTION 3

Which statement about CDB architecture is true?

A. Oracle-supplied metadata resides only in the root container.

B. A seed PDB can sometimes be opened for particular operations.
C. Multiple PDBs with the same name can reside in the same CDB.
D. A CDB can have an infinite number of PDBs.

E. You can create common users in PDBs.

Correct Answer: A
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Reference: http://docs.oracle.com/cd/E16655_01/server.121/e17633/cdbovrvw.htm#CNCPT89235

QUESTION 4

Your customer wants all email addresses from the database displayed as [hidden]@company.com. What method of
data redaction must you use?

A. full redaction

B. partial redaction

C. regular expressions
D. random redaction
E. no redaction

Correct Answer: B

QUESTION 5

Which three components are always part of System Global Area?
A. Database Buffer Cache

B. Undo Log Buffer

C. Shared Pool

D. Small Pool

E. Java Pool

F. Private SQL Area

Correct Answer: ACE

Reference: http://docs.oracle.com/cd/E11882_01/server.112/e40540/memory.htm#CNCPT802
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